Topic Overview

Variation @ Inheritance

PROVE IT

DIRT task

End of unit test

® s

KNDW |_|_ VOCABULARY DEFINITION
A molecule found in the nucleus of cells. It is
. | know about the discovery of DNA. DNA normaII'y arranged.ir} chromosomes.an'd it
e | know about the structure of DNA. determines an individuals characteristics.
* | know what variation is and can categorise differences as Humans have 46 (23p) of these inside of the nucleus
environmental, genetic or both. CHROMOSOMES | of our cells. Eggs and sperm cells on have 23.
* |l know the difference between continuous and
categorical data and know which graph to use to display The part of the DNA molecule that is different
each. GENE between individuals.
* lknow the role of the egg and the sperm in inheritance.
* |l know what happens during fertilisation. The differences between individuals.
* | know what chromosomes are. VARIATION
* |l know how sex is inherited.
* lcan use a punnet square to make predictions about Differences between individuals which are caused by
expected ratios. ENVIRONMENTAL | 6 4r surroundings or lifestyle choices.
Differences between individuals which are caused by
INHERITED DNA.
%‘ LINKIT Data that can be represented by any numerical value
CONTINUOUS

This topic links with the unit 4.6 Inheritance, variation &
evolution topic that you will cover in KS4.

and is normally displayed as a line graph.

DISCONTINUOUS

Data that has a label, name or defined group and is
normally displayed as a bar graph.



https://classroom.thenational.academy/lessons/dna-74tkgd
https://classroom.thenational.academy/lessons/dna-74tkgd
https://classroom.thenational.academy/lessons/variation-75gk6t
https://classroom.thenational.academy/lessons/practical-human-variation-69jpac
https://classroom.thenational.academy/lessons/fertilisation-65jk6r
https://classroom.thenational.academy/lessons/fertilisation-65jk6r
https://www.yourgenome.org/facts/what-is-a-chromosome
https://learn.genetics.utah.edu/content/basics/karyotype/
https://learn.genetics.utah.edu/content/basics/inheritance/
https://classroom.thenational.academy/lessons/inheritance-cngkjt
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